A 5 R G QS SR VR = W~ S
NG /N it o5 LT Jy fi =
(1) 7 -6 3
A 15 3
v 4 — 2x + 1 3
- 3x + 2y 3
7 —6 3
(2) () Ao 4 (2) HNENEUTHIIEMET 2,
(3) FAxIEE%L 0.30 2 43 | (3) ABKERIE, 03 THIEMLT D,
SAREFEXT | 0.55 2
(4) 3(x + 3)(x — 5) 4
(5) a 2 2
b -5 2
(6) 47 (&) 4
(7) 44/3 [cm] 4
(8) 7 4
(1) (1) 3
B
A
0
15
(2) 7® 60 2
© 3 2
® 4 3 (2) 70® MHEFTETEMRET D,
@ 5 (EENED)
X =l 2
9
A 20 3
(1) 7 44/5 (cm) 2
A (7) % (em’) 2
(1) < Cem) 3
16
(2) 7® DF = DH 2
© / BDF =/ EDH 2
® 2D EFEDRIDA 2
A % (cm®) 3
(1) 7 2 2
3
g 2 2 11
(2) 7 y=x—2 3
A 5 4
(1) 50 — a 2
© a+b=50 2
120a + 1505 + 40 = 6700
(2) 7 120(x + 18)+ 150(y + 18)+ 40 3 15
1 ® (0, 12), (5, 8), (10, 4), (15, 0) 4 (2) /1@ JERFET S,
(15, 0) 4
DAz 33 (&)
L 18 (&)

100




